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p. _870 _11
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1130 _29]
B B e +

01 20000

gbboggbogbboobobooboobobad

0000000000000000000
A’0 (A+B)A-B)OO B’OOO
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870+ 1 4 0.25
871 874 870.25

%: 870+ 1 4 0.25
29.5127 29.5635 29.5

120.5,.(120.5 (+,.-) %: 870+ 1 4 0.25
1 30.5127 _28.5127
2 31.5635 _27.5635

0.5 30 _29
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24 51 10

1450, 20,
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42, (24%60) ,35%60" 2
42 0.4 0.00972222

+/ 42, (25 % 60),35 % 6072 NB. 60 notation to 10 notation
42.4264
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1, (24%60),(51%60°2), (10%60"3) NB. 60 notation to 10 notation
1 0.4 0.0141667 4.62963e_5

+/ 1,(24%60), (51%60°2), (10%60"3)
1.41421

V20000000000000000000000000000000000D0000000
O0ooooo(kooBCOO

m J Grammar 00O (base and antibase)

24 60 60 #. 1 52 50 NB. base

6770 NB. sec
24 60 60 #: 6770 NB. antibase
1 52 50 NB. $1 h 52 min 50 sec$

23 JOOO-vnO000000OOO
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NG %0l EEE]D 0 ooooi (i.6),.2 fsr ":(i.6) 1
X0
x—l( +2) X—1(1+2) -3 X :
1—%Xo . 1—123 1 —%7 1 1.5
2
Xo = —(X J— Xo = —(— == =—=141667 .
. 2(1+X1) 2= 5G+3) = 2 1.41667
3 1.41422
1 5 1, 2 577 4 1.41421
= i = (i + =) = — =141422
X3 2(X2+'x2) X =51 %% 408 5 1.41421
NG oooo 1
5 1 5 1
XOD%DDD xlzé(onr%) x1=§(1+§ =3
1 1. 5 7
Xo = é(Xl.|. X_l) Xo = §(3+ 3 = é = 2333

1.5 1, 3, _47
Xa= 50+ 0) Xa= 55+ z) = 51 = 2238095
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2.23607
powerdOOODOODOOOOO ":n (.19),. 5 fr ":(i.7) 1
n ans
powerD inO0O0O00O0OO0DOOOOOO . __
fsr=: 4 : ’ -: +/ y,x%y’ 0 1
fr=: ;@ +/@:C 1,[ % 1 1 3
2 2.33333
%: 50 NB. sqrt of ] 3 2.2381
2.23607 4 2.23607
5 2.23607
6 2.23607
(G.6),. 9 fr ":(i.6) 2
V9 oooo 2
1 0 2
X1:§(1+§9) =3.25 1 3.25
1
X = 50ua+--) =30096 2 3.00962
1
X3 3.000015 3 3.00002
X4 3.000000 4 3
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{ xy =40
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z=a+bi (a,beR)
JOviewmatD D000 oo0ooOooOoOO

5 0j5
5j3.87298 5j_3.87298

;3. p. 40 10 _1
533.87298 5j_3.87298 NB. OO OO

+. 3;}. p- _40 10 _1
5 3.872980 NB. O 0OOOOODOO
5 _3.87298

*/ 5j3.87298 5j_3.87298
40 NB. ODOODOODO

*/ 0j3.87298 0j_3.87298

03 imaginary 5 15 NB. 000000000
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*, oooooo
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NO00000 (1748)00000000000000000000000000000
=cosx+isinx

g, 007 00 (9 0°

S TR T TRl TR 7

PR ix2 ix® ix* ix®
T T T I
ix2 x4 ox o ox3 X
=(1_E+E+m)+l(ﬂ_§+§+m)

(i.8,. (j.i.8),.a=.(cos i.8),. j. sin i.8

NR e cos sin NB.

0 1 1 0
1 0.540302j0.841471 0.540302 0j0.841471
2 _0.4161473j0.909297 _0.416147 03j0.909297
3 _0.989992j0.14112 _0.989992 0j0.14112
4 _0.653644j_0.756802 _0.653644 0j_0.756802
5 0.283662j_0.958924 0.283662 0j_0.958924
6 0.96017j_0.279415 0.96017 0j_0.279415
7 0.7539023j0.656987 0.753902 03j0.656987

*1

tooooooog

(Ct.i.8),(cos t. i.8),: sin t. i.8
11 0.5 0.166667 0.0416667 0.00833333 0.00138889 0.000198413
10 _0.5 0 0.0416667 0 _0.00138889 0
01 0 _0.166667 0 0.00833333 0 _0.000198413

“l0pooOo0000O00000 require'trigh 00O
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3 =1 ;Y. p. 100 1
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=1 3. p. 100601
1 0j1 0j_1 _1

0500

X =1 3. p. 100001
1 0.309017j0.951057 0.309017j_0.951057
_0.809017370.587785 _0.8090177_0.587785

01700

X7 =1 92%$:}. p. 10000000

00000000 1NB. 0(16)

1
0.932472j_0.361242
0.739009j_0.673696
0.445738j_0.895163
0.0922684;_0.995734
_0.273663j_0.961826
_0.602635j_0.798017
_0.850217j_0.526432

_0.982973j_0.18375

0.9324723j0.361242
0.739009j0.673696
0.445738j0.895163
0.092268430.995734
_0.273663j0.961826
_0.602635j0.798017
_0.850217j0.526432
_0.982973j0.18375
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7.1 N.Thomson

000 NThomsoro OOOOOOOooooooOnO

input
R10

+o——t - +--—-- +

[1 0|0 1/0j1 0|0 0j1]

Fo— - +-———- +
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I,i,j,k I,i,j,k
a=. c2ltom &.> R10
e e e +o—————- +
[1 0|0 _1]0j1 0] 0 0j1]
[0 1|1 O] 0 0j_1/0j1 0]
B e e Fo—————- +
I i j k
oooooo | i2=2=k=-1
0 2 times™ i;j;k NB.
o= o= o +
[_1 0|_1 0|_1 O]
| @ _1] ® _1] 0 _1|
+----- +----= +-—--= +
==k =ijk=-1
@+ .*3+ .*k
10
0 _
oooooo |if=j*=k=1
04 times™":2 1i;j;k

[1 0/1 0|1 O
|0 1|0 1|0 1]

e i

O00000ooooo00i,j,.k0o00oooooooogg

a (+/ .* &.>) a

(i;j;k) times i;j;k



7 00DO0OO

14

7.2 400000

000 ROD 4000000 My(R)

X -y -z -Ww
y X -w z

, XY,ZWeR
z w X -y
W -z y X

NB.
I2=: 4 4 $(_1 1 _1 1)(1 4 11 14)}16#0 NB.
J2=: 44 % (L1 11 _1)C27 8 13)}16#0 NB.
K2=: 44 $ (L1 _111)C3 69 12)}16#0 NB.

12;312;K2
Fommm - e Fommm - +
06 10 0|0 0 _10/00 0 _1]
1 00 0|0 6 0 1|0 0 _1 O]
6 00 _1/1 ® 00|01 0 0]
® 01 0|0 _1 00|10 O O]

Fommm - Fommmmm - Fommm - +

times™ I2;]2;K2

e e e +
-1 0 0 0.1 0 0 0|_.1 06 0 0]
| ®_1 0 0/ 06_1 0 0] 06_1 0 0]
|0 0_1 0/ 06 06_1 0|6 0 _1 0
| ® 0 60 _1/ 6 0 06 _1] 6 0 0 _1]
i R e et +

times™ ":2 I2;J2;K2
o o o +
[1000/16000/1060O0]
|0 10 0/0100/0100]

x googo
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O 00 1/0 0 0 1|0 0 O 1]

it it it +

00000000 ikoOoOoOoOoOd +

ji=k \— Kj=-i
NP
O
ik=-]
O 9 hamiltonian
7.3 Script

NB. Norman Thomson Vector Vol23 NR4
In nt=:C.@f. , }.)@*. NB. log length and angle

det=: -/ . * NB. determinant
r2ltom=: ,._1 1 &*@|. NB. matrix from real 2-list
c2ltom=: ,.+@|.@(*&1 _1) NB. matrix from complex 2-list

times=: +/ . *&.>
NB. --———- DATA thomson--------------—-—-—-———-
I 1 j k’=: c2ltom &.> R10=:1 0;0 1;0j1 0;0 0j1

8§ DbUbUououbbbooobobo

0000000 LoGOU 000U OOO turtle graphicsd O O O Fasar JacksofNZ) OO O J
0000000000000 DooO00 LABOOOOOOO
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require ’turtle’

show repeat 6 fd 1 rt 60

0000000000000000000 degree
goog

JOODOOD radian D00 O0O0OooOO0OO
degreel 000D 0O0OOOOOOOO

a

sin_d=: 1&0.@(*&1r180pl)
cos_d=: 2&0.@(*&1r180pl)

@Primer0 000 O0numeric00000O00O00O sind cosd
doodoooobooooooobooooo

goooobooobooobooon

show 1j3 2j4 3j5 4j4 5j3 start sq 0.8

0 10 turtle with turtle

011 ooogoOdooo
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